


W/ Notice amd Warmnimn

MODIFY

DO NOT use recycled or
low-qualityBBs to avoid clogging
and damage to barrel.

DO NOT look into barrels.

+
=
o

DO NOT use high-pressure
(kg-rated) gas tanks to avoid
damage to gun parts.

Never disassemble or modify
the airsoft gun it may cause
the trouble and dangerous.

ADWARNING! A

NOT A TOY. USER RESTRICTED TO 18 YEARS OF AGE OR OLDER.

ALWAYS READ THROUGH ALL INSTRUCTIONS BEFORE USING.

NEVER aim guns at people.

ALWAYS make sure safety is ON
when not using guns.

THIS AIRSOFT GUN MAY CAUSE SERIOUS INJURY IF MISUSED OR MISHANDLED.

THE PURCHASER AND USER SHOULD CONFORM TO ALL LAWS GOVERNING OWNERSHIP.

I ALWAYS KEEP THE AIRSOFT GUN POINTED IN A SAFE DIRECTION.
I TRANSPORT AND USE OF AIRSOFT GUNS.

DO NOT shoot small animals.

ALWAYS carry guns in cases
to avoid risky open carry.

[=] 345

[=]

More instruction manual



N — =P
Propellant Type OTs-126 Gas version
Weight (without mag) 2 kg
Length 840 mm /930 mm
Inner Barrel Length 460 mm
Inner Barrel Diameter 6.03 mm
Hop-up TDC adjustment
Magazine Capacity 22 rds
Caliber 6 mm BB

High 440 fps (135 m/s)
Velocity Normal 380 fps (115 m/s)
Low 295 fps (90 m/s)

Muzzle energy output with 0.2g BB for Japan CO2 version is under 0.98 Joule.
Operating Temperature 20~25°C 68~77°F

Assemlly Steps

Scan a QR-code to view




S

MODIFY

[Exspliosiomn
[Diagjra

1 Upper Receiver Group
2 Bolt carrier-Charging handle set (M2.0)
3 Hop-Up set (65° X-range)

4 Upper Handguard

5 Lower Handguard
6 Outer Barrel Spacer

8
9
10

Screw M4x12 (6 pcs)
Short Picatinny Rail
Long Picatinny Rail
Screw M3x8 (5 pcs)

460mm Inner barrel

O-ring

Muzzle Cap

O-ring

Outer Barrel

Screw M3x3 (3 pcs)

O-ring

Stock Adaptor

Screw (2 pcs)

Buffer tube (with rail and screws)



v

MODIFY

O7Ts-126

INSTRUCTION MANUAL
P XhR{ERREE



S

MODIFY

low-qualityBBs to avoid clogging

3

SHEFITEER

N

DO NOT use recycled or

DO NOT use high-pressure
(kg-rated) gas tanks to avoid

and damage to barrel. damage to gun parts.

&,

DO NOT look into barrels.

Never disassemble or modify
the airsoft gun it may cause
the trouble and dangerous.

AWARNING! A
+18 | RBLISMBLWE - 12BN LBREMEA -
® | HBERBRORLSE SERSEASEAE -
5 | EREmEARARSEE -
E | anneprassesnanmtese -

NEVER aim guns at people.

ALWAYS make sure safety is ON
when not using guns.

DO NOT shoot small animals.

ALWAYS carry guns in cases
to avoid risky open carry.

Ok 40,

[=]

EZEHRB



i —=T=
EEREER OTs-126 ELERHRA
B8 (F3EE) /Ny
RE 840 mm /930 mm
ANERE 460 mm
AEER 6.03 mm
Hop-up TDC R g8
BEERE 22 &
TEEEIELE 6 mm BB

=& 440 fps (135 m/s)

tEOYE —f% 380 fps (115 m/s)

333 295 fps (90 m/s)
HACO2hR#E#F0.2g BBIEER T - 8O ENAE/\IR0.98%E -

EERRERE 20~25°C 68~77°F

40 2L 45 BB (1B QR-codeE &) .




S

MODIFY

J& XE

9
1 tEB#HE
2 1BH-HfRZa (M2.0)
3 HOP#& (65° X-range)

4 OTs-Li#EXK
5 OTs-T#XK
6 OTs-SNEEIEE

10

M4x12 1244 (61E)
OTs- 8 8% 81(31E)
OTs-R R
M3x8 1B #4(51E)

11
12
13
14
15
16
17
18
19
20

OTs-AE-460mm
OTs-AEEEOIR-8x2
OTs-tgA%
OTs-t80&03R-15x1.5
OTs-9h&

M3x3 8244 (318)
OTs-E & EEO3R-19.5x1.5
BIEEEE
BIEEE TR ((21E)
BREHENERIEHS)



